

$\forall n \geq n_0 : V_{n+1} = k \cdot V_n : \quad k \quad (V_n)_{n \geq n_0}$	$\forall n \geq n_0 : U_{n+1} - U_n = r : \quad r \quad (U_n)_{n \geq n_0}$
$\forall n > n_0 : V_n^2 = V_{n-1} \times V_{n+1} \Leftrightarrow (V_n)_{n \geq n_0}$	$\forall n > n_0 : 2U_n = U_{n-1} + U_{n+1} \Leftrightarrow (U_n)_{n \geq n_0}$
$V_n = V_0 \times (k)^n$ $V_n = V_p \times (k)^{n-p} : \quad k \quad (V_n)_n$	$U_n = U_0 + n \times r$ $U_n = U_p + (n-p) \times r : \quad r \quad (U_n)_n$
$1 + k + k^2 + \dots + k^{n-1} + k^n = \frac{1-k^{n+1}}{1-k} \quad k \neq 1$ $V_0 + V_1 + \dots + V_n = V_0 \times \frac{1-(k)^{n+1}}{1-k}$ $V_p + V_{p+1} + \dots + V_n = V_p \times \frac{1-(k)^{n-p+1}}{1-k}, n > p$ $(\quad) \times \left(\frac{1 - (\quad)^{(\quad)}}{1 - (\quad)} \right)$	$1 + 2 + 3 + \dots + (n-1) + n = \frac{n(n+1)}{2}$ $U_0 + U_1 + \dots + U_n = \frac{n+1}{2} \times (U_0 + U_n)$ $U_p + U_{p+1} + \dots + U_n = \frac{n-p+1}{2} \times (U_p + U_n), n > p$ $\frac{(\quad)}{2} \times (\quad + \quad)$
$\forall n : u_n \leq A : \quad A \quad (u_n)_n$ $\forall n : u_n \geq B : \quad B \quad (u_n)_n$ $\forall n : A \leq u_n \leq B : \quad B \quad A \quad (u_n)_n$	$\forall n : u_{n+1} \geq u_n : \quad (u_n)_n$ $\forall n : u_{n+1} \leq u_n : \quad (u_n)_n$ $\forall n : u_{n+1} = u_n : \quad (u_n)_n$
$(\quad (u_n)_n) \Leftrightarrow (\forall n : \frac{u_{n+1}}{u_n} \leq 1 \quad \forall n : u_n > 0)$	$(\quad (u_n)_n) \Leftrightarrow (\forall n : \frac{u_{n+1}}{u_n} \geq 1 \quad \forall n : u_n > 0)$
$\dots \leq u_{n+1} \leq u_n \leq u_{n-1} \leq \dots \leq u_1 \leq u_0 : \quad (u_n)_n$	$u_0 \leq u_1 \leq u_2 \leq \dots \leq u_{n-1} \leq u_n \leq u_{n+1} \dots : \quad (u_n)_n$
\cdot \cdot	\cdot \cdot
$\lim_{n \rightarrow +\infty} (q)^n = +\infty \quad q > 1$ $\lim_{n \rightarrow +\infty} (q)^n = 1 \quad q = 1$ $\lim_{n \rightarrow +\infty} (q)^n = 0 \quad -1 < q < 1$ $\cdot \quad (q^n)_n \quad q \leq -1$ $r > 0 \quad \lim_{n \rightarrow +\infty} (n)^r = +\infty$ $r < 0 \quad \lim_{n \rightarrow +\infty} (n)^r = 0$	$\ell \leq \ell' \Leftrightarrow \lim_{+\infty} v_n = \ell' \quad \lim_{+\infty} u_n = \ell \quad \forall n > n_0 : u_n \leq v_n$ $(\lim_{+\infty} v_n = +\infty) \Leftrightarrow (\lim_{+\infty} u_n = +\infty \quad \forall n > n_0 : u_n \leq v_n)$ $(\lim_{+\infty} u_n = -\infty) \Leftrightarrow (\lim_{+\infty} v_n = -\infty \quad \forall n > n_0 : u_n \leq v_n)$ $(\lim_{+\infty} u_n = \ell) \Leftrightarrow (\lim_{+\infty} v_n = 0 \quad \forall n > n_0 : u_n - \ell \leq v_n)$ $\lim_{+\infty} a_n = \ell \Big) \Leftrightarrow \left(\begin{array}{l} \forall n > n_0 : u_n \leq a_n \leq v_n \\ \lim_{+\infty} u_n = \lim_{+\infty} v_n = \ell \end{array} \right)$
$(\lim_{+\infty} u_n = 0) \Leftrightarrow (\lim_{+\infty} u_n = 0)$	$(\lim_{+\infty} u_n = \ell) \Leftrightarrow (\lim_{+\infty} u_n = \ell \quad \ell \neq 0)$
$\ell \quad f \quad \lim_{+\infty} U_n = \ell$ $\forall n \geq n_0 : V_n = f(U_n) \quad (V_n)_{n \geq n_0}$ $\cdot \lim_{+\infty} V_n = f(\ell)$	$f(I) \subset I \quad I \quad f$ $\cdot u_{n_0} \in I \quad \forall n \geq n_0 : u_{n+1} = f(u_n) \quad (u_n)_{n \geq n_0}$ $\cdot f(\ell) = \ell : \quad \ell = \lim_{+\infty} u_n$